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CE304 ROING. & coveveerer e )
Spl. 2018
SURVEYING-I1
foiffawm dfrae) | , [Irfream 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70

B () vy HHGE 8 A8 Rl ua 3 3w A
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) ¥ F99 & G 4TI F1 FHAR TF Gre g7 Fford |
Solve all parts of a question consecutively together.
(iii) ¥eI% J¥7 H 79 98 8 IRE Hd |
Start each question on fresh page.
(iv) 2 yTare § R 817 #1 1fa 7 st sgare d a8

Only English version is valid in case of difference in both the languages.

1. faw aagms
Explain the following :
() fe&fim

Swinging
(i) RfemER
Stadia hair
(iii) < Sfram
Long chord
(iv) 3u i
Sub chord
(v) RrSiemse % qog 39

Fundamental axes of theodolite (2x5)
(10of2) P.T.O.
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6. (i)
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7. ()
(i)

2 of2) 140
gty faftr gra dferst o Y frisiense 1 agrran & Ao Y faf aasms |

Explain reiteration method of measuring horizontal angle with the help of a
theodolite.
o REEIeTse & Amiferd fom wTsd |

Draw a labelled diagram of theodolite. (6+6)

forel Faft & i 6 S o1w $8 w1a H Afe faeeh @ R arre @ aun fawe
1YY TE IUH WA TH & HEA A B 8 |

How will you find the height of top of a chimney when the base of chimney is
inaccessible and top of chimney and instrument stations are in the same vertical
plane ?

Zifire form & e Y@ A wgfera 1 ST R 7

How the traverse is balanced by Transits rule ? (6+6)
e o3 A Afa gl o i e wmgmsd |

Explam the method of measuring horizontal distance with the help of substense
GT@&EB g 1 frgr afea awsnsd |

Explain theory of anallatic lens with sketch. (6+6)

aehal FiaT UE asdaie & ey 30 Hiet 9 ST g dey wriig $IR |

Derive relationship between radius of curvature and degree of curvature for 30 m
standard chain.

0T 3k F 1 BT & 7 $8 I 1 H TR ST ?

What is transition curve ? Why is it used ? (6+6)

T wdgor d &fes gf 3 et | 3T A 71 fopan < &, wfe wwensd |

How is horizontal distance and difference of elevation determined in mine
survey, explain with sketch.

o @Y G e 9 Sl aneEd |

Explain the tunnel alignment and setting out. | (6+6)

Jiee Ry W afdr feuquft fafed |

Write short note on total station.

pteetia fRrfa - Frerer somedt

Global positioning system. (6+6)

8. U T H W] @1 qfoede fag w1 99 1192 et 2 un faga Hor 50°30° R |
300%%mwﬁgmﬁmﬁﬁﬁm%mmm%mm
Hifore | g =T 20 HX R | )

Chainage of point of intersection of tangents is 1192 m and deflection angle is 50°30'.
Determine offsets for setting out curve by offsets from chord produced for 300 mm
radius curve. Peg interval is 20 metre. (12)



